Examplel 1 An experiment consists of rolling a die and tossing a coin. Use a tree diagram to list the

sample space for the experiment.
——

2 Two coins are tossed and a die is rolled. Use a tree diagram to show all the possible

outcomes.

Example 2 3 If one card is chosen at random from a well-shuffled deck of 52 cards, what is the
probability that the card 1s:

a aqueen
b not aclub
c aqueen or a heart
d either a king or a queen?
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3 If one card is chosen at random from a well-shuffied deck of 52 cards. what is the
probability that the card is:
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